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REBERUEK=ZERTRE REESRMBAKZERFTERS HER

1HE 6A1H BRI EN IS
9:00 S
AT 1 % " e
EQ-ER JI)L— d—)L BAL &
R > E [ & B
1 M4 x+ | 1 [#B\] 2 3 | 45 | 61 BH(F)
13:00 1EE | 2 ;A 1 3 | 42 | 90 (51 (BEEFH)
3
2 W4 x+ | 1 [(EEEA 1 3 | 58 50 | WAKAAYU
13:15 R 2 | EME%EB 2 4 113 10 B7R (8%)
3
3 M1 x 1 [EAGE) 1 4 | 9 | 41 Z4Y)vE
13:30 | F:EAM | 2 |5nFEEUIIL) 3 4 | 41] 65| Ba(EVY)
HHY1 3 |;#EC 2 4 | 40 | 78 | 5poB (EM)
4 M1 X 1 |52 E (/) 2 4 | 52 | 43 on (2)
13:45 | F:EB# | 2 [;ZB(XHA) 1 4 13270 | 1E(ER)
HHY1 3
5 W2 X 1 [ZEEA 1 4 | 14| 28 HEAV
14:00 1@EB | 2 [iZA 2 4 | 16 | 32 [BIKERATE
3
6 W2 X 1 [;#B 3 5 | 42 | 61 | Spft (&/)
14:15 1EE | 2 [2E%EB 1 4 | 33| 68 [t1roro7Lay
OP 3 |48 2 | 51 9|59 HE AT
7 W1 X 1 [[Z(CKH) 1 5 | 5 | 8 | 535 (ER)
14:30 1EB [ 2 |[A8e1 1A 2 5 | 56 34 |®EE (&)
3
8 M2 x [lEES 1 3 | 48| 60 50 (£)
14:45 1EB | 2 |5%FE 2 4 | 15| 38| sa(EVYD)
3
xz8
9 [HE 1 5 | 7 | 35 | WAKAAYU
1530 | w4 x+ | 2 [;ZFEZED 2 5 | 28 20| BEHR(ER)
HHY1 | FEAL | 3
10 M1 X 1[5 E (/M) 3 4 | 56 | 83
15:45 €] 2 [7EC(8M) 2 4 | 55 | 14
3 [;nZFEEJIE) 1 4 | 45 | 67
11 M4 x + | 1 [iZA 2 3 145 ] 20| BEARGE)
16:00 268 | 2 |89 1 3 | 43 | 55 |B1 (BEETFH)
3
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2HH _6H2H _ BFEZHERE  Condition:
12 [HEFSE WAKAAYU
10:00 | wa x+ | 2 [;ZEGEE BR (&)
HHY1 | FEBHE | 3
13 W1x 1 |A8ar JIAT) RE (&)
10:15 2B | 2 |[E(KHA) 35 (ER)
3
14 M1 X 1
10:30 R B 2
3
15 W2 x 1 [EA HEAIV
10:45 2|8 | 2 [/ EEEA SRERATH
3
16 W2 x 1 <1EB2f1>
11:00 2\ H 2 <1EB16>
OoP 3 <1[@E B3>
17 M2 x 1 |5nEE 5 (EVY)
11:15 2@ | 2 [# 5n (2)
3
16 OP 1 [E)IIBC(M2 x)
11:30 hEE | 2 |[E)IIBC(W2X)
3
17 1 ;B s5n I (BFHE)
11:45 | M4 x+ | 2 [i#C BR(FE)
3 I B L—LBERHk
18 1 < FEBI1GI>
12:.00 | fwax+ | 2 <FRAMUG>
RS 3 <2 DB FRAA LIE>
4 B L —LEERHk
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L—RBVFU IR
L—RBVFU TR

L—R#&UFU Y no9THEMA
L—R#&UFUY no9THEMR

L—R#&VXY no 12 CER
L—R#&VXT no 12 CIER

L—R#EVXY no 1 1TTHER
L—R#EVX2Y no 1 1TTHER
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